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COMMERCE
Paper 111

TSy
gyAutrent 111

Time Allowed : 2% Hours] [Maximum Marks : 150
Note : This paper contains Seventy Five (75) multiple choice questions. Each
question carrying Two (2) marks. Attempt All questions.

AT : A1 GRAUAh THY Ueew (75) Jgaarl v ol oTRd. Woid Jeen g (2)

U Sed. @d U G

Societal marketing concept gives

more importance to .................... .
(A) Customer satisfaction

(B) Profits for the company

(C) Domination of competitors

(D) Welfare and well-being of the

society

A person’s consistently favourable or
unfavourable evaluation, feelings
and tendencies towards an object or

idea is called as ......cccccceennnnne .
(A) Motive

(B) Attitude

(C) Belief

(D) Perception

(D) THNTE hedmo] 3o 3=t

TEIE ST TEe a5 fohal shedq-

EIERESESHIREI HICIC*I‘iUf HehlcHen Sl

TRIIcHeh T, TSaTesvll AT hed ITedl

(A) &
(B) =it
(C) fawam

(D) wHSt

[P.T.O.



Which statement of the following is

not correct ?

(A) Green consumers purchase the

products which are eco-friendly

(B) Green consumers purchase the
products which are packed in

green coloured papers only

(C) Green consumers purchase the
products which are re-cycled

products

(D) Green consumers purchase the
products which are not
prepared from threatened

species

In new product development
process, when new product is
launched on trial basis in a small

geographical area, it is called as

.......................

(A) Test marketing
(B) Product marketing
(C) Company testing

(D) Policy Testing
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TeATerish! HIvd foem sier T ?

(A) BRA ITHR AR &) BRaT

< {dld

(B) 3@ Su9led we fetemn =

FIGTE U ST afd Bal

h{dld

(C) 3R IR TR hetedl a&g=
T A

(D) sRa UK gHI TSI TaR

ol IREl BRG! I AR

el o] TerehTe HishaHed Siegl el a&q

TTRATeR oo’ Te YUNTHE |Gl shedl




Which of the following factors does

not influence a dividend policy ?
(A) Liquidity position of a company
(B) Market value of share

(C) Legal restrictions

(D) Size of business

From the following information,

calculate the combined leverage :
Sales ¥ 10,00,000,

Variable Cost T 4,00,000,

Fixed Cost T 2,00,000,

Interest ¥ 40,000,

Tax Rate @ 30%.

(A) 1.67
(B) 1.50
(C) 1.11
(D) 1.35

Capital structure designing has

nothing to do with ................... .
(A) Profitability

(B) Flexibility

(C) Corporate Governance

(D) Liquidity
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EIATCTUSh | ShIUTCHT SR STHTYT HIUMeR
Jue Ued ATEr ?

(A) HUAET TG Yedr g
(B) N ASIRHEH
(C) FPRYR e

(D) HaHEIT= SATR AT

ElTeitel AIfgdee Tehisd Ui el :
ferhl ¥ 10,00,000,

SEerd 9eTd % 4,00,000,

feer 9™ 3 2,00,000,

1§ X 40,000,

I @ 30%.

(A) 1.67

(B) 1.50

(C) 1.11

(D) 1.35

................ ql‘c“ Q{isqm {‘i{‘q.-“
FHUATE GaY TEl.

(A) TIYE
(B) <Aiferehar
(C) HYA YIMEA

(D) @ e
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D
According to > approach, if the

market price of equity shares of a
company (Face value ¥ 10) is ¥ 15
and dividend rate is @ 20%, cost of

equity shares will be ............... .
(A) 20%

(B) 15%

(C) 13.3%

D) 12.5%

When a manager follows an
interview guide but also asks other
questions, what type of interview is

being used by him ?

(A) A structured interview

(B) A semi-structured interview
(C) An unstructured interview

(D) An open interview

APR - 50317/111—B

D ~ - * n
F Ul QIS THEN Tehl hq-=A1 HHA

I (SR fohAd 3 10) IIRASA

3 15 ST U ST 20% 3FHA T HH=

(A) 20%
(B) 15%
(C) 13.3%

D) 12.5%

Sieg] SHeRITIeh YA ANIG Yeh! SToRaTd

U] FEeeR 3R Il faaman e

o SRIOT HaAleld HenRIH] A4 epdld ?

(A) TXfea gareq

(B) AdERf=a qared

(C) TEfea Hemerd

(D) T HeAred




10.

11.

Provisions relating to strike and
lock-out in industrial organisations

are there in the :

(A) Payment of Wages Act

(B) Industrial Disputes Act

(C) Minimum Wages Act

(D) Factories Act

Which of the following is not

included in the model for

formulating a career strategy ?

(A) Assessment of personality traits

(B) Implementation of the career

plan

(C) Long-range personal and

professional goals

(D) Personal profile

10.

11.
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SENfITeR TeeATdIe |Y o dldeic] Hele=

(A) o1 <F (Payment of Wages Act)

(B) 3M=nfirer et

(C) foam aad

(D) &HR@EMH

WA TIehT e HHEE hiteR SgTae

HISU LA shedl SO JIeTTd 2id

& ?

(A) T HccaT=a] @YE dfyrsear=a

AT

~

(B) hfeR THaeAmT sHsse

(C) TeiepTel AT o SHTEHIaeh

/3

(D) AfFTd ATfedt
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12.

13.

Leading human resources is the
process of influencing the activities
of an individual or a group in efforts
towards goal achievement in

GIVEN ..eeeveervveeeee. .

(A) Structure

(B) Situation

(C) Organisation

(D) Culture

Which of the following is not a

principle of bank lending ?

(A) Collective responsibility

(B) Liquidity

(C) Security

(D) Profitability

13.
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T shT/sese wie
FOATA] JIACTA AR fehan Fegr=n
(TRT=AT) HEFER GHE/ IR0 SHIoITE
Gfshal FEUNS HIFel SEIEATE Aqe e
(A) AREE]/THT

(B) uRfeerd=

(C) Hoe

(D) w&Fdre

TR IV T S foqyiaania
E

(A) HHfesh SRRl
(B) el aw
(C) gifgraan

(D) YuEdar




14.

15.

16.

Which of the following is not induced

in three pillars of BASEL capital

accord ?

(A) Minimum capital requirement
(B) Supervisory review

(C) Market discipline

(D) Core banking solutions

What is full form of CTS ?

(A) Call Trade System

(B) Cheque Truncation System
(C) Cheque Transmission System
(D) Cheque Transport System

Which of the following sectors does
not come under the perview of IDBI

for term lending ?

(A) Defence equipments
(B) Informatics

(C) Health care

(D) Storage and distribution of

energy
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14. 99 HI=A 1 TWUHE WIeiadent

15.

16.

hIUdl Tk THISE helall ATl ?

(A) TRuM vread gafeda
(B) TRTET
(C) IR R

(D) ISR AT HegeH

CTS = Yol ®9 = :
A) *fd g fadm
(B) =% ZavM faem
(C) = grafaer faem
(D) = TrEdR faEE

IDBI =41 Y&t sheiid WIeicrish! v

ST WEUN Al ?
(A) TRETI I
(B) wifedras 3cae

(C) AR ScaeH

(D) St Weav & e SaareA

[P.T.O.



17.

18.

All those financial resources and
facilities which are available to the
monetary authorities of countries
for solving their International

disbursements are called as :

(A) Global funds

(B) International funds

(C) International liquidity

(D) International capital

Special Drawing Rights issued by

IMF are components of :

(A) Foreign investment flows

(B) International liquidity

(C) International institutional

investments

(D) International capital

17.

18.
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YT T ST 3TTqeT fereelt <oft

i TS U STHUAT fowiA

e 9 gfagm

(A) Sfaer fAeh o

(B) aiawrsera el wor

(C) STAWET qXeAd FRoTaTd

(D) TR Hsdel TN

N (a)

AT Ao efehgA

o

it fasi

TR0 YRR (SDRs) © WIeicTueh! 3T

O STed ¢

(A) ThIT Wedd YaTg

(B) SRS TLEA

(C) SITfdeh H¥ATCHS T[qav[eh!

(D) SINTfder WiSad

10



APR - 50317/111—B

19. Which of the following is not true 19. S MR GESEN (WTO) Tesita
with reference to WTO ?
GreAlcdehl hIvd faem@ T e ?
(A) It is an organisation
(A) @ T TR MW
(B) It is permanent in nature
(C) It has dispute settlement (B) fo= : Sl
mechanism . .
(C) de1 e =on fa=n e 9mT &
(D) It deals with only trade in
(D) W %] SATIREN o Hefa e
goods
20. The Asian Development Bank (ADB) 20. 2 9% (ADB) ¥ TF :
1s : o .
(A) FEUSE AR HeAT 38
(A) Multilateral Trade Organisation
(B) WNIfqeh T[qav[eh T¥AT 3T
(B) Global Investment Organisation
(C) faurfa fom geen o®
(C) Regional Finance Institution
(D) Export Finance Bank (D) faf fom o e
11 [P.T.O.



21.

22.

Accounting Standard 28 is related

with ..o, .

(A) Cash flow statement

(B) Valuation of inventories

(C) Impairment of assets

(D) Earning per share

A department in which manager has

control over revenues, expenses

and investment in assets is called

AS it .

(A) Profit centre

(B) Cost centre

(C) Revenue centre

(D) Investment centre

21.

22.
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e HHEe 28 © I fAmfed

Sl

(A) @ YA Y5

(B) HICHIET e

(C) HITHTT HoI®e

(D) gt 9 fHewha

TR a9 e 7egd, T

9 HIAHU eIk FeR R0 o

(A) THT g

(B) 9femd g

(C) Wegd 3

(D) TAAUH HS

12



23.

24.

On listing of the Stock Exchange,

securities can be made easily........... .
(A) Transferable

(B) Affordable

(C) Refundable

(D) Profitable

Open ended mutual funds are traded

at their ................... .

(A) Net Asset Value

(B) Gross Asset Value
(C) Net Realisable Value

(D) Net Book Value

23.

24.
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Y

ﬂW‘Hisqm disIiRId Algld

(A) BTN
(B) TISTITSIIIAT
(C) TafHesvErIa

(D) rHYedl

TOICIR F[Fd HheT™ HAER

fradia 2am.

(A) eI ATeTH oo

(B) @Ieles HIGTHAT Hed

(C) Tra= =gl qed

(D) 7= qwhia I

95. Which of the following is not | 25. TICciishl HIUMl SEER WM Wigdd
a speculation in the stock ST ST SA5ER FHSTell ST T ?
exchange ?

(A) 9 (Bull)
(A) Bull
B) <@ (Brok
(B) Broker (B) (Broker)
(C) Bear (C) fo3R (Bear)
(D) Stag (D) =T (Stag)
13 [PT.0.



26.

27.

Commercial paper represents a
financial instrument issued for the

purpose of .................... .

(A) Project financing

(B) Leasing of a plant

(C) Working capital

(D) Import of capital goods

A factoring arrangement used in the
international trade finance by

exporter who export their goods is

called .....ccuueeen.... .

(A) Forfeiting factoring

(B) Limited factoring

(C) Conventional factoring

(D) Recourse factoring

26.

27.

APR - 50317/111—B

arforsaas § foxita Wem =vE eeld

B hledd 3TEd

(A) Yoheq foaxitaeno

(B) I3 HEU AR

(C) Wasd Higad

(D) ArEde IR TN

o ¢
[

fFafdeRA ST AR o e

(A) T ST

(B) waifed weedim

(C) IRURE HeRd

(D) YAYATT Thead

14



28.

29.

.............

Modern marketing concept is

oriented concept.

(A) Suppliers

(B) Consumers

(C) Dealers

(D) Distribution

Since the implementation of

liberalisation policy in India, there
has been a shift from .................
market situation to buyers’ market

situation in case of several types of

consumer products.

(A) Private

(B) Public

(C) Sellers’

(D) Competitors’

28.

29.
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B e
@ Fheua SR,

(A) TRERER

(B) Sulert

(C) foshan

(D) faren

YRATHE SR RO ST
AU 3 UG a&=
S S— SRS NN Sae

IOIRUS STEIHE] dge] FTotell 378,

(A) @rsT

(B) gresifen

(C) fascar=n

(D) TqEfehT=

15

[P.T.O.



30. Patronage motive is a motive which

31.

induces a person to buy ............... .

(A) From a particular shop

(B) On the basis of product features

(C) On the basis of product pricing

(D) On the basis of product

packaging

Discouraging the demand for

a product or service is referred

AS i .

(A) E-marketing

(B) Demarketing

(C) Remarketing

(D) Micro-marketing

APR - 50317/111—B

30. 3N T @ T Tq e I AMHAR

31.

(A) faftte gRAMYT=

(B) a%] Afersear=a STURER

(C) a%] fohmd=n TuRER

(D) o] U=l SATERER

TR aE=A fhar da=a ATl

(A) 3-Hh{e

(B) SHmER{eT

(C) THmEhfeT

(D) HTEIshI-HATeh e

16
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32. Green washing refers to outwardly | 32. 9 aMM WUS sfad &g =T
adopting green acts with an ST ST IR HTF BRa FHar Aaad
underlying purpose of ................ . EZUNEERS
(A) Satisfying the consumers (A) TEHN FHEEM HI0
(B) Exploiting the employees (B) = QWO 0
(C) Increasing the profit (C) THT= TGl H
(D) Decreasing the profit (D) THEEE HE H

33. While selling a motor car, the role | 33. HIZRHE fashl LM foraumehct=
Of o in a family is the most RN A RICII e
important role for marketers. T Hecarat 3.

(A) Initiator (A) aferemat
(B) Influencer (B) Gl
(C) Decider (©) faofarerd
(D) User D) ST
17 [P.T.O.



34.

35.

In case of marketing research, which
of the following is not a source of
secondary data ?

(A) Books and Periodicals

(B) Government Reports

(C) Internet Websites

(D) Telephonic Survey

Which of the following is not the
advantage of recruitment from

within ?

(A) Stability from continuity of

employment ensured

(B) Creation of sense of security

among employees

©)

Enhancing the general morale

of employees

(D) Varied and broader experience

34.

35.
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faqum geiemrEeYid STeiierieh! hivm
TFH HAifed! Fa AT ?

(A) T&ish effor feraeRtfaren

(B) TRl 3T8dTd
(C) aSel-Tehaees

(D) TTEAAGR T

(aV N ¥ o hd o N
LTATAYehT hI0TdT I g1 SAATd AT

wEST ATEr ?

(A) TRi= AT R @

(B) SHETFAHE GRI&aa=Aa veq

RIEKI]

(C) U TR H18 arefan

(D) fafay s =aUe M9

18



37.

may be defined as the

amount for conveniences and
necessaries of life that a worker
obtains for a given period of his/her

work.

(A) Real wage

(B) Living wage

(C) Fair wage

(D) Minimum wage

Usually Manpower Planning in the
context of an enterprises human
resources does not as such focus

[0 8 .

(A) Acquisition

(B) Utilisation

(C) Social skills

(D) Improvement

36.

37.

APR - 50317/111—B

HTHTRI A fohen fav shaiean SUEieh

HIBIA HTHMS SaAEgdesh TS 9

g INfauaEet fHesreiet RTINS

YN S Hial Asd.

(A) Ird ddd

(B) Sfteq adA

(C) =g oA

(D) foram oaH

S = HIa ST Heyid

ERAECIC I ERIS I BT

AT A9 ATEL

(A) WIS/ ol

(B) AT9Y/3UAM

(C) HHIfSIeh <hivTe™

(D) garon

19

[P.T.O.



38.

39.

Which one of the following is fast
emerging as a very serious problem
in the wider field of Human

Resource Management ?

(A) Inadequacy of right type of

manpower

(B)

Employee alienation

©)

Lack of adequate professional

approach

(D) Role of trade unions

Which one of the following is not a

purpose of transfer ?

(A)

To rectify erroneous placement

(B)

To provide creative opportunity

(C) To satisfy the employee’s desire

(D) To move the employee in the
interests of his/her health

&/or age

38.

39.
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e HEA AT ATk &5lTd

EeiTeAdeh! hIval 3Tfd T TH& S

W AR ?

(A) I/ YerTeA Heelesral 3Rl

(B) == g{lol&iqun

(C) QWM Fedgeh gfeeehAren 314

(D) SR HEeAT YfHeR

WCATeTish! ShIvl Seei=l &q el ?

(A) Fehr=a e &

(B) g eiel/TaTcqeh shHTel Heft <o

(C) =A== qui vl

(D) wH=TETen A fdhar gEm=

fedrea g el gerfan

20



40. When an employee has few .............. ,

41.

he/she has high morale.

(A) Perceptions

(B) Frustrations

(C) Dissonances

(D) Failures

Find the odd one out :

Some of the types of formalised

programmes of training are :

(A) Job Rotation

(B) Job Enlargement

(C) Job Enrichment

(D) Fulfilment of Esteem Needs

41.
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Teg1 fa=/@m IS Sl ST

(A) Srofter (FHST)

(B) ea

(C) Yfciehard

(D) 3TIR

foa wiE slesEn .

= o (s = fa
Qi\QRTUﬂ?:lT SHlUAlen  chldonHIH <hlel

TR JEIAuHTo SR

(A) =& aR=ed

(B) & fomr

(C) & THZIH

(D) W= TRS= geidl

21
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42.

43.

IMF performs the role of :

(A) Granting soft loans to less

developed countries

(B)

Regulate international trade

(C)

Promote private investments

(D) Promote exchange stability by

establishing multilateral

system of payment

To qualify for free trade or reduce
tariff under NAFTA, the North
American content in production

value needs to be :

(A) 25%

B) 75%

(C) 50%

(D) 40%

APR - 50317/111—B

42. Wreftads! IMF =t ffieht & e :

43.

(A) STYfIh g ST T sl <ol

(B) Wahg AR I8 &0l

(C) @IS T[AIUEhid <ol <ol

(D) USRI Heed v e e e

e IO

Tl HIYAT Hokd AR fhar =X

TIAE T SIS TEURT ST

3cqET Hedd 1 SuEl WA 9l

AT Uifes

(A) T&EH 25 2=

(B) f&®mM 75 2o 31T Uifes)

AT TTfESt

(C) f&EH 50 =

IH e

(D) fram 40 2=

22



44. 1If the rate of exchange is allowed

45.

to be freely determined by demand
and supply in foreign exchange

market, it is called as :

(A) Fixed Exchange Rate

(B) Gold Standard

(C) Flexible Exchange Rate

(D) Rigid Exchange Rate

Because of its low rate of interest
and easy terms of repayment, IDA

is nicknamed as :

(A) Friend of LDCs

(B) Soft loan corridor

(C) Soft loan window

(D) Soft banker

APR - 50317/111—B

44. fafraamn 2 faftaa S qrref o

45.

ReSareA YeKiter iR g sTHea™

oAl 3 WU

(A) TR fafma

(B) oo gH

(C) seoar faf g X

(D) @ fafma <X

A 3TeY AN F Wahe = oy

3T AT S Taeh™d Hee™ (IDA)
WeAeTdeht a1 AYUEEH e S

o ~

(A) AUfIRfad <IM=1 TE@l

(B) 9Ie @H Slier

(C) Hire @F fo=

(D) TR &t
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46.

47.

Which of the following is not a part

of IMF member countries quota to

the capital base of IMF ?

(A) Contribution in widely accepted

foreign currencies
(B) SDRs
(C) Member countries own currency
(D) Gold

Which of the following member

countries was last to join SAARC ?

(A) India

(B) Afghanistan

(C) Pakistan

(D) Nepal

46.

47.

APR - 50317/111—B

IMF =1 Hieddld GYEE 9= feeem=n

WTeATeTUeh! ShIvTdT Sideh Teh 9T el ?

(A) TIEHT Wb T FATHEA AR

(B) fagm smetu sifyedR

(C) 99 <E WA g

(D) gavi/daA

g3 N AN o N e
SIEESECE RRCININEEIRE IR ?{ST SEIR

e WEURT oen 2

(A) ¥Rd

(B) STHRIURE™

(C) dIfRE™

(D) T
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48. Which of the following statements | 48. WciiciUsh UG faaM | Mg ?
is frue ? (A) WTO =1 it GATT SR Tl
(B) IMF is replaced by WTO (C) GATT =1 S WTO  3Tfedara
(C) GATT is replaced by WTO e
(D) WTO is replaced by IMF (D) WTO =1 St IMF 31f&ieeld 31ed
49. A status of foreign citizen working 49. 9dra 180 feaw T stum==
in India during the previous year
TRell AMReRrer et g ki
for 180 days is .......cceeeeeees .
sEd ?
(A) Resident and ordinary
resident (A) Trardt o geraerer et
(B) Resident but not ordinary B) frard T o AT QR
resident
(C) 3Afersit
(C) Non-Resident
(D) Foreign Citizen (D)
25 [P.T.O.



50. A motor car having 1800 cc engine

51.

capacity, provided by an employer
to employee for official purposes only

is valued as perquisite at :

(A) % 2,400 p.m.

(B) ¥ 1,800 p.m.

(C) ¥ 600 p.m.

(D) Nil

Deduction U/S 80 TTA of Income
Tax Act, 1961, towards interest on
Saving Bank Account is limited

170 N .

(A) T 30,000

(B) ¥ 1,000

(C) T 10,000

(D) % 3,000

50.

51.

APR - 50317/111—B

HTeTehT SHHET=ATA STl 1800cc &9

UM HITR&R Uiqul SATeadrieh

IS SUASY e foell ST

TS AR AT A fohclt Wrent™
A BRA ?

(A) % 2,400 ¥fqaE

(B) % 1,800 wfa®

(C) % 600 Hfq®

(D) T

SR IS et 80 TTA TAR

dehdlel od Scae] fHesum=a1 <A

S ST U@l aeare. 3R ¢

(A) % 30,000

(B) ¥ 1,000

(C) T 10,000

(D) X 3,000
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52.

53.

Which of the following methods of

depreciation is considered under the

Income Tax Act 1961 for calculating

depreciation allowance U/S 32 ?

(A) Straight line method

(B) Written down value method

(C) Revaluation method

(D) Insurance method

Which of the following is not capital

asset under Income Tax Act, 1961 ?

(A) Agricultural land

(B) Urban land

(C) Forest land

(D) Industrial land

52.

53.

APR - 50317/111—B

ST IS 1961 el hetH 32 THR

Lal fa AN A
A=A ARAS enUIdISl Clicdieibeon]

I YU SHR] 91 hieell STl ?

(A) W I TgHd

(B) ®ed Hed UgHd

(C) YHedih Tged

(D) fom gged

ST HIART 1961 STTIAR  WICHcrush]

RVl WSt ATTH™T ATSr 2
(A) Fol S
(B) &l yHt

(C) == 9

(D) SfNfieR ot
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54.

55.

Non-disclosure of income from

Benami transactions is an example

of i, .

(A) Tax planning

(B) Tax avoidance

(C) Tax evasion

(D) Tax exclusion

Income from Royalty U/S 80 RRB

on text-book is eligible for deduction

under Income Tax Act, 1961 :

(A) ¥ 1,00,000

(B) % 2,00,000

(C) % 3,00,000

(D) Nil

APR - 50317/111—B

54. SATH! SHEHRETIRA H@UR 3= 38e 4

0 T Wellel TS SeTell 3T

(A) X TrsH

(B) &Y a0l

(C) T ehfaol

(D) T TR0

55. e qEehraR fHesum=a1 Waeer=a

FRUH! HewH aare %had 80 RRB
HIER 3ah! AR

(A) ¥ 1,00,000

(B) T 2,00,000

(C) % 3,00,000

(D) =
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56. Addition of a new product line in a

57.

COMPANY 1S ..ceeeeevevvvvnnnnnn .

(A) Diversification

(B) Vertical integration

(C) Horizontal integration

(D) Geographic expansion

Which Act was replaced with the

introduction of Competition Act

2002 ?

(A) FERA

(B) MRTP

(C) POTA

(D) FEMA

APR - 50317/111—B

56. HITHY Telq I G A HL]

57.

(A) fafasieor

(B) Sedig ThaIahIo

(C) area (fafasiaa™) s

(D) drifass far

HIFEYH 3T 2002 B HIF HIvc

SIET S Sde! ?
feRar
TRV QT HIFASITE STFGR I
EIREICTIES 10 =L e ol N
(A) ®U (FERA)
(B) WH. #R. . b. (MRTP)
(C) [ (POTA)

(D) %" (FEMA)
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59.

.........................

is a single act of

comparison and learning for

organisational improvement.
(A) Benchmarking

(B) Feedback

(C) Ranking

(D) Job evaluation

income economies

Low are

sometimes referred to as ................ .

(A) First world economies

(B) Second world economies

(C) Third world economies

(D) Fourth world economies

59.

APR - 50317/111—B

B g R0 o AR
YR HoATHS! RIRvAr=ht Tehae St

3TTR.

(A) 3TAHEI/TATIG S0

(B) WicTe Tt/ amren

(C) TOMI&HA <O

(D) hTAIIHTH

AT IU AHACHT STLHTAEAMT HTal

(A) 9 STfaeh  STefegereer
(B) fedia Smfaer stefemerzen
(C) qda SrTfaes STedesrereen

(D) =gYl STfaer  STeferasen
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60.

On retirement of a partner,

continuing partners gain in terms

APR - 50317/111—B

60. YRR T BIamT =1e] Tfeeiedn ARTGRAT

(A) aeft
(A) Gaining
(B) wsad
(B) Capital
(C) %I d1eY
(C) Profit sharing
(D) i
(D) Sacrificing
61. Profit on re-issue of forfeited shares | 61 ST@ wheiedl A= Hfeshiaiel T
is transferred to .................. o e Id a1 Fe Sl
(A) Profit and Loss Account . .
(A) TR 9 diE @
(B) Capital Reserve Account
(B) vregd et fAeft @
(C) Profit and Loss Appropriation
Account (C) w1 & qrr faf=m @
(D) General Reserve Account (D) 9= TEig et @
31 [P.T.O.



62. An investment centre can be

63.

evaluated by .................. .

(A) Profit

(B) Return on turnover

(C) Present value of investment

(D) Return on investment

The main purpose of cost accounting

1S 0 covviieiinnene, .

(A) Assist the management in

decision-making

(B) Maximise profits and minimise

losses

(C) Comply the norms issued by the
Government of India from time

to time

(D) Prepare cost accounts in line

with the accounting standards

62.

63.

APR - 50317/111—B

T[S Shalel HeIHIIH

.

(A) &1

(B) SATRIATaR g

(C) @@ WuR® oo

(D) TAAURIeRIc AT

IR IR T @ B
R,
(A) =TT ofa St e

HLO]

(B) HgwH T® S0 oTed el

NN o o =

dodldad] Slfed <h

(C) YRA 9ahRA &l

o= el o)

(aWiaN

(D) TR AM®RITT FETT TgaMA

IR W@ dIR ol
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64. An indifference curve is usually

64. TICICIsh! HIAT HRUMHS THIT/

convex to the origin because of :
Tl a1 FH=de SRY faga

(A) Increasing marginal rate of

a—%—;—ﬁa ITdr ?
substitution ‘
(B) Diminishing marginal rate of (A) STedr dHa T <%
substitution

(B) mredl HHid A €X

(C) Constant marginal rate of

substitution () feer <riq Tafaa €<

(D) Variable marginal rate of

(D) eerd HHmd e €%

substitution
65. (AC — AVC) x Output is : 65. (T TE -~ WH{ Sead W) x
A) TC IUEA IS WU
(A) THU T
(B) TFC
(B) TR fer Td
(C) TVC c
(C) TR Seidl T
(D) AFC (D) T feer @+
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66. The products sold by rival firms in

67.

monopolistic competition are :

(A) Perfectly complementary

(B) Perfectly substitutes

(C) Complementary

(D) Close substitutes

When AR of a firm is above its AC

then :

(A) The firm will earn supernormal

profits

(B)

The firm will achieve break-

even point

(®))

The firm will earn normal

profits

(D) The firm will suffer losses

APR - 50317/111—B

66. THQRIYHR TAHESTRIIT TIEER ITNT-

67.

HEIT eI sheted oI&] & TE

(A) QU9 T SFEA

(B) Uiaul G ST
(C) I FHa

(D) = TgEg STHad

SEAFTEEET IUEd Wl (AR) faem wEd

T (AC) SR 3Tfeh 3T ™

(A) SENTEEST  3Tfafiem/TaIamor I

KR

(B) STNTEEAT AT THI-T AT STere I

i

(C) STNTEEY HaHeNo 6 fHesd

(D) SEEEY del Bgd
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68. A study of entire population is called | gg. ol G ST TS v
AS i .
(A) SITOTAT
(A) Census
(B) T Hefeqor
(B) Sample survey
(C) qoell weam
(C) Pilot survey
(D) agfesh Taem
(D) Random survey
69. If a random variable X follows 69. S X AT A= A T Rl
Poisson distribution such that A MTPX=1)=PX=2), ®
PX=1)=P X =2), then the mean e — S
of X1S teveveiiineinnn, .
(A 1
A 1
B) 2
B) 2
(C) 3 ) 3
D) 4 D) 4
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70. A certain quantity is a total of

71.

certain number of components then

diagram to

represent it.

(A) Bar

(B) Line

(C) Pie

(D) Multiple bar

If P(A) = 5P(A"), then P(A) = ............ .

(A) 5

(B) 1/5

(C) 5/6

(D) 16

APR - 50317/111—B

70. TEE] TS & 3 Fahr=l s 319

71.

(A) TG

(B)

(C) Tt

(D) 9gaa WYeE

SR P(A) = 5P(A)), WP(A) = -ovvevrees .

(A) 5

(B) 1/5

(C) 5/6

(D) 16
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T2, i, is a step in the process of | mg s 3 Freisr whFSe T T
controlling.
(ToT) e
(A) Matching the actual
performance with the standard (A) FHIOI (FHTOTRTTER)  hTHf R
set T HEAR @A e
(B) Developing feed forward control
(B) smwwor fraen foswfaa w0
(C) Organising delegation of
authority (C) AMFRR UM Foed 0]
(D) Working out span of (D) AT e ST F
management
73. frofg srogmrE) Tt TS 3T
73. Decision-making requires :
(A) Designing arganisation (A) o AT (IREET) TIR H0l/
structure et
(B) Decentralisation of authority (B) AfYsR= fashgiehtor &l
(C) Unity of command (C) STRIMEN TehlcHdT
(D) Planning D) FrEeH
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74. Effective leadership particularly

75.

depends on :

(A) Organisation Structure

(B) Situation

(C) Span of Control

(D) Programme Design

Motivation does not necessarily

depend on :

(A) Motive

(B) Superior

(C) Organisation structure

(D) Opportunity to fulfil social needs

74. ARUTHRRER/gHTe Aqgca faeromd:

75.

APR - 50317/111—B

RICHEECRC R

(A) TEH TEAT

(B) uffeerdt

(C) fEzm &g

(D) HEHH A/ ARG

m_@ ............... qeR . Wﬁ
SR | C RO I  F
(A) Bq/5om

(B) Is3i/<ass Aty

(C) TeA &A1/ ANEE]

(D) HrHIfSTeh TR WFTforoar= geft
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ROUGH WORK
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ROUGH WORK
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